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I (end of 'a mwn: ) evaluation of liability for jv »pr:
a  p’m: estimate how much similar area in that field is worth against how much this bed is worth after damage
i source: v.1 (MR nTw1a Y1) which teaches 2:
1  exemption for 1”071 v (else would’ve been written at end of verse)
2 we estimate against another part of the field ("1nx nTwa)
(a) method:
(i) ®rInaa°0v " value of 1 nko among 60
(if) =y 9: value of 1 2pn (Y2 "RD) among 60
(iif) mpm: value of 1 stalk (that it ate) among 60
(b) challenge (to all of these):
(i) ruling: if the animal ate a ap or 2, we don’t estimate it's own value, but imagine it as a
vegetable bed and estimate the loss (= on it’s own; not as a 1/60)
(if) answer: as a bed within 60 beds (and each xR will apply it to his own 1yw)
(c) explanatory K79
(i) we cannot: use a 1p (small amount) for that overestimates the damage — hurts the p»m
(if) and we cannot: use a M3 n*a (large area) for that underestimates damage — hurts the pr
1. note: should say "13”, not "1 n’a”
2. means: we don’t measure a 1p by itself, (as above), nor a ap within 60 13;
a. rather: a ap within 60 prap
ii  story: man chopped down a palm tree of another came to Xm% w1 who estimated the loss based on the
value of the tree itself (rejected by defendant) they went to 1", who ruled 1/60
1 challenge (8¥27): 1/60 was stated in re: damage done by his property — here it was done by him
(a) support: Rn»a ruling on payment for someone destroying another’s vineyard — doesn’t use 1/60
(b) Block: similar ®n>1 in re: damage done by animal (omits “1/60”)
(i) Rather: in both cases, the meaning of its value is using the 1/60 model
(if) Note: in 15t >3, "N rules that we evaluate based on what the remaining stalks will produce
1. Observation (»2x): ¥n (above) and YRynw’ "1 ruled in parallel:
a.  Snypw’ /7. v. 1 means 200 of the pr (contra y™ and application to w1pn)
i.  Not meaning: if it ate fruit and we don’t know if it was better or worse (n"ynn)
ii.  Rather: we use the remaining stalks to judge what it would’ve produced
iii Revisiting 2517772 RN in case it ate budding grapes, we estimate loss in value to vine
1 But: w™ —only if it ate vines or shoots; if it ate half-ripe grapes or figs, we estimate as if they were ripe
(a) Contradiction: in 1% clause, " finds budding grapes as mature ones; from 2" clause — only 1011 etc.
(b) Resolution (81227): read all together — budding or half-ripe grapes are estimated as ripe ones
(i) Challenge: if so, ™ = nnan (but they disagree in Xn»12)
(if) Answer: 1 of them (?) considers the loss to the vine (had the fruit remained until ripe)
1. »ax: w™ considers R1a1 wnI, as he exmpts LR from 7Y¥ since she’ll eventually have nr»a
with him once they’re married (n'nan’s counter distinguish from rape)
2. »ax: w™ parallels opinions that we reduce payment for ny19n by m'n 'n7 or (only) mnm
iv  Final ruling: ™1 712 0" 9”1 — 1/60 accepted in re: insignificant losses, e.g. Aramean palm
1 Story: ®»vp MYOR proved his scholarship in such a case with someone taking dates from a tree
v Final ruling: Rmb» w1 — (estimate full value) in re: significant losses, e.g. Persian palm
b  w":if the animal ate ripe fruit — value of fruit
i Source: v.1—1nR nTw1 - only when it still needs the field (for growth) (21 ruled in favor of w"’s position)
1 Addendum: 21 ruled like n"1 in re: a husband selling a field set aside for namns, where she refused to sign
on it for one Ny but signed for a second — she loses rights to collection and cannot claim that she was
merely bringing m1 nmi to her husband
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